1. SN EREREEERIZDOLNVTGBA21BIEES)

TR E T 5 FHE S —  SHRFHE D KR)

& B 1

BHAL . %

HR#E A 2L

a4 25 (a)

& &

ZH(b) (b)/ (a) BEREt (c) (c)/ (a)
TISUIZBLNT, ERR23EE
158 137 98 72% 39 28% |E#ETHEARIEL=21 BRI
DNTILH EREEE R R 44
S Z . ZFENDOIKR
B4, %
T i 4R IR i . B B
FT M55k (a) 4 (b) ERREHd)

ZERXRH (b)/(a) dbarvrE(c) (c)/(a) (d)/ (a)
FE 1 36 32 89% 27 75% 4 11%
£EB2 33 26 79% 0 0% 7 21%
£ B3 35 34 97% 4 11% 1 3%
£E4 33 23 70% 14 42% 10 30%
£EBS5 29 22 76% 9 31% 7 24%
£ EG6 36 28 78% 16 44Y% 8 22%
£B87 36 31 86% 7 19% 5 14%
B8 36 29 81% 19 53% 7 19%

=t 274 225 82% 96 35% 49 18%

KBEBRICEITHEHEIE. 14HDOEMEICOE22DZANFTML TS5, M. SEREHEE RIS OV TINORIEE—BLELY,




